Polaris Placement Paper 2011


1. 
void main( )
{
int i;
for(i=1;i++;i<100)
printf(”%d”,i);
}
How many times does the loop executes

a) 10 b) 0 c)100 d)Infinite

Ans : d)infinite

2. 

void main( )
{
char c[ ]=”cdef”;
printf(”%d %d”,sizeof( c ),strlen( c ));
}
a) 5 4 b) 4 5 c)2 5 d) none of these

Ans:a) 5 4

3. What does Microprocessor does when it encounters an non maskable interrupt______________

a)Finishes the current executing instruction and then serves theinterrupt.
b) Finishes the current executing task and then serves the interrupt.
c)Serves the interrupt at once.
d)none of the above

4. The storage type used by micro processor is________________

a)LIFO b)FIFO c)Uses Both alternatively d)none.

Ans : a)LIFO.

5. Using of ___________ clocking circuit is asvantageous in terms of usage of power.

a)Oscillaor b)Crystal c) d)none

Ans : b)Crystal

6. When microprocessor encounters the HLT instruction _______________

a)Halts the executions.
b)Halts the executions and busses enter into tri state.
c)
d)All the above.

7. void main()
{
int i,j,k;
for(i=0;i<3;i++)
k=sum(i,i);
printf("\n%d",k);
getch();
}
sum(s,t)
{
static int m;
m+=s+t;
return m;
}
Ans: 6

8.void main()
{
int i;
clrscr();
for(i=1;i<6;++i)
switch(i)
{
case 1:
case 2: printf("%d,",i++);break;
case 3: continue;
case 4: printf("%d,",i);
}
printf("%d",i);
getch();
}

Ans: 1,4,6

9. Using of ___________ clocking circuit is asvantageous in terms of usage of power.

a)Oscillaor b)Crystal c) d)none

Ans : b)Crystal

10. The time CPU takes to complete the execution of processes____

11. The minimum length of TCP/IP header and IP datagram header

12. Process spawning in OS is__________

13. The topology that uses a central hub is___

14.  ____flag is not used in 8085 jump instructions

15. SNMP is used in which layer

16. Banker's algorithm is used for

17. Belady's anomaly is related to___

18.  Which of the following is not correct?

a) arrays consume less space

b) linked lists are more complex

c) linked lists use less space

19. When an interrupt is called control is given to..

a)interrupt vector table

b)interrupt service routine

c)stack

20. Which of the following maintains a constant time(best,worst,average)?

a)searching b)sorting c)indexing d)none

